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Use  “Integrating  Factor” to  solve the first-order

(xe* +x2)y =-xye* —xe”  (25%)

Solve the initial value problem: x3y"— 3x2y" +6xy' -6y =2 xS,

y)Y=0,y'(N=Ly"(1)=-1 (25%)

Use Laplace Transform to solve the initial value problem:
Y +10y' +25y=e +28(-1) , H0)=1,y(0)=0 (25%)
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(a) Find the eigenvalues and eigenvectors of the matrix A= [3

differential  equation

]. (10%)

(b) Please explain the meanings of “A is Positive-Definite” and “A is Negative-Definite”.

(5%0)
(c) Find the diagonal matrix A which is “similar” to A.  (10%)




